Math 131 - Quiz 1 Name __Key
January 18, 2023 Score

Show all work to receive full credit. Supply explanations when necessary. This quiz is due
January 23.

1. (4 points) The graph of y = f(z) is shown below. Use the graph to solve each part of
this problem. ’

-5¢
_6..
(a) Estimate glclg(l)f(a:) \\m ‘?(x) % -~ 3.5

X=>o

(b) Estimate xli)rng(:c). \\m ‘?(X} N — L\
X>-3 |
(c) Explain why lim6 f(z) does not exist. -? 'S NOT DETINED From THE LEFT
z——
O0F X=-(. We cauneT ApproAcy ~(o.

(d) Explain why lin% f(z) does not exist.

-2 ‘
\L\mvr Fra?m LeF YT T } ;\\o-v ,ec‘um_ .

Turn over.

\

L\M'\T Freom R\S\—\T = \?A



2. (3 points) Use a table of numerical values to approximate the following limit

. Your
table must show function values at six or more points.
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3. (2 points) Explain why each limit fails to exist. \
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4. (1 point) Use direct substitution to determine the limit.
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